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30 startZPos

zPosDone

40 M11 := TRUE
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xSollPos := StartXPos + (actCol * 31.0) - (actRow * 15.0) ySollPos := StartYPos + (actCol * 40.0) + (actRow * 6.0)

80 startZPos

zPosDone

90 startZPos

zPosDone * actCol=2 * actRow=1zPosDone * (actCol<2 + actRow<1)

actCol<2

actCol := actCol + 1

(actCol<2) * actRow<1

actRow:=actRow + 1; actCol:=0;

100 startXPos startYPos

xPosDone * yPosDone

110 startZPos

zPosDone

120 M11 := FALSE

B11

130 startZPos

zPosDone

init actCol := 0 actRow := 0

StartXPos := 42.0 StartYPos := 72.0


